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HESINDAH HESNDA MHEINDH BEINDA
iﬁ%w(%%)%ébf o :tﬁ%;d)(%%)%éﬁ o
HERRRORRM  [100kn/m?% 82 5 R TRETRRDER |100kn/m? % 422 HR 1
NDKRES | 2FE | NOKRES| 2FE | HOKRES | £FE | AOKRESS| R% NDRES| £FZE | NWDKES| £FZE | HOKRES| 1FE | HOKRES | 1RE
DIEHRKR| OFE |DIRK| OFs |0OI3BRK| 05 [D3BEKXK| o DIERK| OFE |DO3BRK| O |D3BHK| OFE |0O3B8K| 05
[OEX0) X %)) DHED [OEX0) X)) [OFX0) [OEX0) DHED
(kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m)
1 ~ 2 - - 80.0 1.0 - - 8.9 1.8 24 ~ 25 - - 92.6 1.0 - - 8.4 1.7
2 ~ 3 - - 82.7 1.0 - - 8.0 1.6 25 ~ 26 - - 92.6 1.0 - - 8.5 1.7
3 ~ 4 - - 82.7 1.0 - - 8.0 1.6 26 ~ 27 - - 92.3 1.0 - - 8.5 1.7
4 ~ 5 - - 82.6 1.0 - - 8.9 1.8 27 ~ 28 - - 87.4 1.0 - - 9.7 20
5 ~ 6 - - - - - - - - 28 ~ 29 - - 87.4 1.0 - - 9.7 2.0
6 ~ 17 - - - - - - - - 29 ~ 30 - - 87.4 1.0 - - 9.5 1.9
7 ~ 8 - - - - - - - - 30 ~ 31 - - - - - - - -
8 ~ 9 - - - - - - - -
9 ~ 10 - - 100.0 1.0 - - 9.6 1.9
10 ~ 11 - - 100.0 1.0 - - 8.9 1.8
11 ~ 12 - - 88.8 1.0 - - 9.8 2.0
12 ~ 13 - - 80.0 1.0 - - 10.0 2.0
13 ~ 14 - - - - - - - -
14 ~ 15 - - - - - - - -
15 ~ 16 - - 80.7 1.0 - - 10.1 2.0
16 ~ 17 - - 80.7 1.0 - - 10.1 2.0
17 ~ 18 - - - - - - - -
18 ~ 19 - - - - - - - -
19 ~ 20 - - 85.4 1.0 - - 10.1 20
20 ~ 21 - - 85.4 1.0 - - 10.1 20
21 ~ 22 - - 85.4 1.0 - - 10.1 2.0
22 ~ 23 - - 89.0 1.0 - - 8.2 1.7
23 ~ 24 — — 89.1 1.0 — — 8.2 1.7
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